HE
B = ——
SRIREE e
(1)
8kg
(2
122.6cm 3.06
(3 2kg

(4)

(1)

(2)

PDF

715

0.65kg

10

12kg

13.0
1kg

1kg

15.9

2kg

375.5kg



33.6 a) 176.0 373 373 439 35.7
H2.11.2 68.0 b) 103.0 121.0 121.0 127.6
0.49 ¢) 1.71 3.08 3.08 3.44

35.3 198.3 360 393 508 30.0
H2.12.7 73.0 107.0 122.0 127.0 134.0
0.48 1.85 2.95 3.09 3.79

Si9 181.0 371 456 534 35.2
H3.3.23 70.5 103.4 122.5 125.0 129.0
0.45 1.75 3.03 3.65 4.14

41.0 194.0 398 398 537 32.0
H3.8.13 73.0 104.0 125.0 125.0 134.0
0.56 1.87 3.18 3.18 4.01

kg =
cm
0.77 0.62 0.62 0.23
0.80 0.61 0.52 0.40
0.76 0.65 0.67 0.28
0.81 0.73 0.73 0.49
0.79 0.65 0.63 0.35
* + 0.02 + 0.06 + 0.09 + 0.12
kg
(
6.1 16.6 16.6 26.1
6.7 15.5 18.9 28.3
6.4 16.0 19.9 29.2
6.2 15.4 15.4 24.7
6.4 15.9 17.7 27.1
+ + 0.3 + 0.6 + 2.1 + 2.1
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